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ESR S TR = 1 =i Q1 IV NI )
By 3% A FI054£02 4 21 H eI Dt e/ 69 ko (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

K IR ft JE 10. 00| FA % 30 300 972 774 540
w5 | 1000 Mkt 120 1,200 1,134 923 756
N &I 10. 00| AHxf 601 6,010 1,674 1,123 788
HOR w5 5. 00| FHxf 41 205| 3,564| 2,890 864
ERSEaNe) o JE 12. 00 [ #A % 60 720 918 882 810
FEONAE (r— 4. 00 | FHxF 34 136| 1,944| 1,830 1,512
H & 5 HL 3. 00| FHxf 292 876 1,998| 1,030 605
H A el 1. 00 | #H % 225 225 864 749 432
ENIEE .00 4% ol 50| 4,320 2,592 2,160
AN w5 2. 00 [ FH %} 162 324 1,242 1,110 864
[ I\ w5 5. 00 [ #H %} 624 3,120 2,052 1,744 1,296
I ==— | 10. 00| fHx%t 78 780 7,560 7,358| 6,480
~7 b~ | F 3. 00 [ FHx} 43 129 1,728 1,690 1,188
SR BN 00| FHxf 3 6| 4,104| 4,068| 3,996
A—=T 4 AbiEiE 10. 00| AHxf 700 7,000| 1,620 974 486
B OF g, 10. 00| AHxf 137 1,370 2,430 2,228| 1,620
£ A L 10. 00| AHxf 304 3,040 3,132 1,932 1,296
LA A O 10. 00| AH %t 345 3,450 3,024| 1,971 1,350
Pf=—LF R & [ 4. 00| fHxf 456 1,824 2,052 1,677| 1,296
Tayal— (r— 6. 00 | FHxf 326 1,956 3,132 2,264| 1,296
= 1| 6.ool/A%t| 7| 42| 2,592| 2,469 2,160
AEMEE w5 0. 10| #Hxf | 4, 400 440 167 130 65

LU E B 0. 20 | FHx} 300 60 86
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE A FI054£02 4 21 H eI Dt e/ 22 b (Biir)
i 4 JE = Wae | %K F e T fE g2y ]

38 Foak L 10. 00 | #H%F 305 3,050 4,860 3,395 1,836

VA 1 Ak L 10. 00 | ¥H % 200 2,000 2,268| 2,214| 2,160

5 U R 10. 00 | #H%f 772 7,720 3,780 3,033 2,160

Yafa— #H & 10. 00 | #H%f 114 1,140| 4,860| 4,436| 3,564

Avava 74U ¥ | 13.00| fHxf 10 130 3, 024

T AN — = R 0. 27| FA%F 6 2 378

bEELS i 0. 27| FH%} 1,636 440 540 494 270

S X & 0. 25| FH*} 5,416 1, 360 518 438 270

IRBHD Y £ IH 0. 25| FH*} 1,952 490 400 365 259




